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Problem 1007.Count Set

Given a permutation p of {1, 2, ---,n} and a non-negative integer k. Please calculate the number of subsets
T of {1,2,3,4,...n} satisfying |T| = kand |P(T) N T| = 0.

Where P(T) means P(T) = {y|y = pz,z € T}.
Input

Each test contains multiple test cases. The first line contains the number of test cases (1 < T' < 15).
Description of the test cases follows.

The first line contains two separated integers n, k.

The second line contains n integers p1, p2, - - -, pn (1 < p; < n), denoting the given permutation.

1<n<5x10°,0<k<n.

For all test cases, > n < 5 x 10°
Output

For each test case:

Print one integer in a line, denoting the answer number modulo 998 244 353.

Example Input

3

51
53214
52
25134

10 3
196938645721

Example Output

40
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